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& fiz K £ Tk 1 v r—%JL | HDCP =SS RAVb
& B hE ERX 35 35 70 6.0 64.0 500
B EIF MEH 36 34 70 5.0 65.0 400
3fL A0 EX 37 36 73 6.0 67.0 300
AL HA &t 37 41 78 11.0 67.0 200
541 RIE  fEAER 40 36 76 7.0 69.0 100
61iL FRWL  ZA 41 38 79 10.0 69.0
741 BH T 36 39 75 6.0 69.0 90
81iL I 5T 40 37 77 7.0 70.0
9fiz Fl Fr 41 38 79 9.0 70.0
1041 AH #H 39 38 77 7.0 70.0 75
1141 AH E& 38 40 78 6.0 72.0
1243 A0 %= 39 41 80 8.0 72.0
1314iz RIR #EA 40 42 82 10.0 72.0
1441 INR BE 39 36 75 2.0 73.0
154z A BB 39 40 79 6.0 73.0
164 by &HZF 41 40 81 8.0 73.0
1741 F OEX 39 44 83 10.0 73.0
18431 Kz Mz 46 38 84 10.0 74.0
1941 mx E4% 40 38 78 4.0 74.0
201iz Z2 EN 45 39 84 10.0 74.0 75
214 ws ER 40 40 80 6.0 74.0
22{i1 MR BF 41 40 81 7.0 74.0
231 =% =F 42 42 84 10.0 74.0
2441 LT = 41 37 78 3.0 75.0
25131 mH AE 45 40 85 10.0 75.0
2613z Z2 &N 46 42 88 13.0 75.0
2741 = & 5h 43 42 85 10.0 75.0
281{iz mAR FH 40 45 85 10.0 75.0
2911 TR W= 41 36 77 1.0 76.0
3013t AR EH 40 37 77 1.0 76.0 75
3141 He JE= 43 41 84 8.0 76.0
324 BE &2 44 45 89 13.0 76.0
331 FAIER  23A 41 38 79 2.0 77.0
34431 BR EE 38 39 77 0.0 77.0
354 KA K& 41 42 83 6.0 77.0
36131 R EA 47 43 90 13.0 77.0
3741 byt IEfT 40 45 85 8.0 77.0
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& £z K £ Tk 14 v k—%J)L | HDCP ESVIS KAk
381iL HZE EX 41 41 82 4.0 78.0

3913 2k AFE 42 43 85 7.0 78.0

4011 KAGR &A 43 45 88 10.0 78.0 75
41141 FR H—HS 41 47 88 10.0 78.0

421 R B 41 49 90 12.0 78.0

4341 ®EE F5 42 41 83 4.0 79.0

4441 b+ JkE 47 42 89 10.0 79.0

4541 EZz & 43 43 86 7.0 79.0

46131 BE B&F 43 46 89 10.0 79.0

A7 B IE{S 43 40 83 3.0 80.0

48131 BiE =7 51 40 91 11.0 80.0

4941 B (L# 46 44 90 10.0 80.0

501t Il EE 45 44 89 9.0 80.0 75
514 BEE &iE 40 46 86 6.0 80.0

5241 F oE— 47 44 91 10.0 81.0

531 ZR FH 43 45 88 7.0 81.0

54431 AR KRR 44 46 90 9.0 81.0

551 Btk =X 49 40 89 6.0 83.0

561i AR EFE 48 48 96 13.0 83.0

5741 e - 46 46 92 8.0 84.0

BBE HiE & 50 47 97 13.0 84.0 120
5941 B EA 46 48 94 10.0 84.0
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